Math 104







Name:

Homework

Graphical Exploration of Identities

Graph the function  y =
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on your calculator.  The standard window will work but you will make it clearer by doing a ZOOM 7:Trig.  

Does the graph appear sinusoidal?

Give a rough sketch of the function here:

What appears to be the amplitude?

What appears to be the period?

What appears to be the phase shift (assuming this is a cosine function)?

Based on the answers given above, express the function in terms of the cosine function only.

You know may set the formula from the previous answer equal to 
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 and you will have an apparent identity.  Try graphing the other side of the apparent identity and see if the two graphs match up.

Apparent Identity:

Use a graph to fill in the right hand side of the following identity. Be careful.  Some calculators (like the TI 83) have a little spike in the graph that does not belong.  That makes it even more important to realize that this is not a proof, but a way to get the right hand side of a potential identity that will need a formal proof.
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Also, do 7.3: #7,8 from the text.
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